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- k|yd k^s k|sflzt ldlt M 2076.04.09_ 

 
bds gu/kflnsfsf] nflu cf=j= 2076÷077 df dfn;fdfg tyf ;]jf vl/b ug{sf nflu ;fj{hlgs vl/b lgodfjnL, 
2064 sf] lgod 18 sf] pklgod -1_ jdf]lhd df}h'bf ;"rL tof/ u/L cBfjlws ug'{kg]{ ePsf]n] of]Uotf k'u]sf OR%'s 
Ohfht k|fKt kmd{, sDkgL jf ;+:yfn] bds gu/ sfo{kflnsfsf] sfof{nodf sDKo'^/ ;km^j]o/df k|lai& ug]{ sfo{ ;d]tsf 
nflu df}h'bf ;"rL tof/ ug{ xfnnfO{ 2076 >fj)f d;fGt leq cg';"rL 2 s jdf]lhdsf] (f+rfdf lgj]bg k]z ug{' x'g of] 
;"rgf k|sflzt ul/Psf] % . 

 
b/vf:t ;fy k]z ug'{kg]{ sfuhftx? M 

 
1= kmd{ tyf sDkgL btf{sf] k|ltlnlk . 
2= :yfoL n]vf gDj/, d'= c= s/ btf{ k|df)fkqsf] k|ltlnlk . 
3= bds gu/kflnsfdf /x]sf Joj;flox?sf] xsdf bds gu/kflnsfjf^ lnPsf] Joj;fo k|df)fkqsf] k|ltlnlk . 
4= bds gu/kflnsfsf] cf=j= 2075÷076 ;Ddsf] Joj;fo s/ nufot ;j} s/r'Qmf u/]sf] k|df)fsf] k|ltlnkL . 
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